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B) an equilateral triangle
(D) a regular n-sided figure

(C) a regular dodecagor

3. If the product of the polynomials x?=2x+3 and ¥*+2x-a does not

contain a term of ¥  then the value of @ is ( )

(A) 3 (B) -3 ©4 D) -4
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4. Ifpoint P (a-b, a+b)is in the third quadrant, then the result of simplifying
|a—b|—|a+b| s ( )
(A) 2a (B) 2b (C) -2a (D) -2b

5. As shown in the diagram, given that ADJEFBC, ABJCD, and £ZABD
ion to £4BD, there are ( ) other

=£ADB, then i]lthe ‘.;.__,

that can

(D) 4:5:6

8. The distance between A and B is etres. A messenger planned to take ¢

hours to walk from A to B to deliver a
he plan. Therefore, he should walk ( )

1 message. Due to some reason, he now

must reach B » hours ahead of

more metres per hours.
mn

m

(A)-"-m B)""m ©—""5m (D)

$:4 nt—r 2t
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—.  Fillin the blanks. (12 * 2 = 24 points)

9. Factorise:x’ —2x> —3x=

10. If 2x™y* and -7xy™"' are like terms, then m+n=

11. The algebraic expression representing * the sum of -3 and 6 times the square

point P (3, 4) about the line

essiont. 2a° —3a+1 is 6, then the value of

Drder
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16. As shown in the diagram, in A4BC, ~/BAC=106°, EF and MN are the
perpendicular bisectors of 4B and AC. The £ EAM equals
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19. As shown in the diagram, in A4BC, D and E are points on the sides 4B and
AC, respectively. Folding the triangular piece of paper along DE, point 4
reaches the position of point F. If DF #/BC, ZB=60° and LCEF=20° ,

then ~4= degrees.

1 1

+
2 x-2 x —5x+6
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@) [V2-V6|+[v2-1|+[V6 -3

(4) [(_ 313;4)2 oy’ —x? y.'a o (338

x*-16
@) ¥ —6x+8
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. %x+%yz),for

(3) First simplify, and then evaluate: x~2(%x——y2) +(—

3
=— and y=-2.
x > ¥y .

3




&
&
HUIE iR E bR d 5

23. The area of a square and a circle are both 4. Compare the size of the
perimeter of the square and that of the circumference of the circle. (6 points )

70° and

25.1A ‘ n, in A4BC, AD | BC with point D being the foot of
ting 4B and the
pand ~AFG=_G.




@
Nl
HUE B E R A

26. As shown in the diagram, in A4BC, ~4CB=90° , AC = BC, point D is any

point on 4B, AE _LAB, AE = BD, and DE and AC intersect at point F.
Determine the shape of ACDE. Give your reason. ( 10 points)




